Quantum OpticsO Chapter 7
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7 Lasing without inversion and other effects of atomic coherence
and interference
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7.1 The Hanle effect

ooooobooooobz0O0000O0O000O0DDOOO0OODOOOO0gO0O0DOOOODODOOOO
oboooboooooboobooooooon

(P(t)) = pcosvt(z cos At + §sin At) (7.1.7)
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7.2 Coherent trapping - dark states
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H = M+ A4 (7.2.1)

A = hlidi (7.2.2)
i=a,b,c

s = _§(Me_wlt|a><b|+M@‘Wlt|a><c|)+H.c. (7.2.3)
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() = ci(t)e™ ™ |i) (7.2.4)

i=a,b,c
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[1(0)) = cos (6/2)|b) + sin (8/2)e™*|c) (7.2.8)
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Qr1 = Qro, 0=m/2, 1 — o — ) ==+7 (7.2.12)
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7.3 Electromagnetically induced transparency
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7.4 Lasing without inversion
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7.4.1 The LWI concept
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a0 =1,  ¢(0)=c.(0)=0 (7.4.7)
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